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PART -1
GENERAL KNOWLEDGE
& TEACHING APTITUDE
. Who sworn in as the New Chief Justice of
Delhi High Court?
1. Justice G.Rohini 2. Justice R.L.Lotha
3. Justice Manavajeeth 4. Justice Sadasivam
&d 05°§563 BT TR adSS B
@éma (oogsvéo B&?
1. 255 2.8%28 2. wh%
3. &gm S35 EE 4. ag(\) JdeedHo
. 2014 Pulitzer Prize winneris
1. R.Chandra Sekharan
2. Vijay Seshadri
3. Ratan Tata
4. Venkat Ramakrishna
2014 Sond @8&38 SRy (88w
1. &8. 50@5%@65 "2, Dead 3B

8.8, S

3. B8 erer 4. F0860°(BRS
. Head Quarters of International Atomic Energy
Agencyis__
1. New York 2. Vienna
3. Paris 4. Geneva

©oSTHD ©e0dd 0% B STTgedo

L 263230‘5?5& 2. Dosew, 3. 65 4. Bdaw
. Capital city of newly formed 193 member
country southsudan is...

1. Seocil 2.0slo 3. Juba
1935 $a5B8R00 $8earomeS ToasgeR.
1. _AeE 2. &RP 3. w4 gse

. Chemical used in the photography...

1. Silver Bromide 2. Methene

3. Silver lodine 4. Mercury

DBEEIHE® BDBrA0S RcHS0

1. Dex (EFE 2. DB

3. 2 wBrRE 4. b

. Ateacher should be effective leader means..
1. should inspire students to achieve goals
2. should be a good orator

3. should dominate colleagues

4. should maintain discipline and order in class
BAPTRIO00E) 2.8 (DPHN0SETE AL
SOTd ©08...

1. ogzen FHoHDH é)magtﬁqg@é: 028053

2. 0D HE won Gomed

3. 35 e6he oD

4. 858 (BH8Ze e rBoTd

4. Akra

7. Continuous comphrehensive evaluationiis....
1. estimate the performance of students by
conducting exams monthly
2. should maintain discipline everyday
3. estimate performance of students
comprehensively dialy
4. None of the above
QBB D Sarergosbo e ...
1. (@830 dorgies H8Zen JBEroY, AaLYEB
0BT Ich&o
2. (&8 @Wé%)@?ﬁ) Lézﬁ)%ésaés &ocety Bodbiso
3. ($86% oo UT SBK8KBE* domerdSor,
Soforr AaYEHH o Fchio
4. DBseed
8. Astudent learns better if he is.
1. taught in his mother tongue
2. punished for his errors
3. given strict coaching
4. respected for his achievements
DTSR Fotor Jensireod. ...
1. $rderad® 6500055
2. @B B2D BJpoBd SofotaddRpih
3. HNSBDS BFeo BENOIPED
4. @98 LI BB

9. The major shift proposed by National

Curriculum Frame Work (NCF)-2005 is.
1. learning through books
2. learning in the wider social context
3. learning with teacher monitoring
4.learning in the class
8% Dy (He8E S¢0 ~ 2005 (HBIPBODD
BGRS SL).
1. HIFPe TP @80
2. DY FPSrRE, HOdTre @gkddo
3. GGyl é6§3§§ae§s 3080
4. $5588° 8080

10. The article which introduce free and compul
sory education in constitution is...
Toesoriodt O wgES ([HsP8o, FBYBE GO
QB)ods D& @3%33&:563.
1. 65 2. 48 3.

45 4. 63




PART -11 (A)
GENERAL ENGLISH

Read the following passage. Choose the correct

alternative for each questions.

Althrough astronomers and other scientists could
accept the idea of a spherical earth, common sense
told most people that it was flat. The Idea of some
people at the other end of the earth walking about
upside down underneath our feet is not an easy one
to accept. When coloumbus sailed out into the Atlan-
tic and returned safely, many intelligent people were
surprised that he had not fallen over the edge of the
flat earth. In the Sixteenth Century. Magellan and
Drake, who were then sure that the world was infact
a sphere, complete voyages round the world by
travelling west.

11. According to the passage, most people
belived that ]
1.the earthwastiny 2.the earth had no space
3. the earth was flat 4. the earth was round

12. Many people were surprisedthat [ ]
1. Columbus had not fallen ovet the edge of

the earth

2. Columbus sailed into the Atlantic

3. Columbus discovred new world

4. Columbus returned safely
13. An astronomer is associated with [

1. the scientific study of the earth and the Sun

2. the scientific study of the universe

3. the study of satellites

4. the study of the earth
14. Ooty is cooler than Chennai

(change into positive degree)

1. Chennaiis coller than Ooty

2. Chennaiis cool than Ooty

3. Chennaiis not so cool as Ooty

4. Chennaiis the coolest city than Ooty
15. Although he is poor, he is honest.

(change into simple sentence)

1. He is poor but he is honest

2. He is poor yet he is nonest

3. Inspite of his poverty, he is honest

4. Despite of his poverty, he is honest
16. He signs songs (change into Interrogative)[ ]

1. Do the sing songs? 2. Did he sing songs?

3. Will he sing songs? 4. Does he sing songs?
17. Sujanis sitting __ kumar. [ ]

(choose the right preposition)

1. beside 2. besides 3.in 4. of
18. The teacher said, “Are you going to market?

(choose the right reported speech)

1. the teacher enquired me whether | was

going to market

2. the teacher required whether he were going

to market

3. the teacher enquired whether he were going

to market

4. The teacher said, what we were going to

market

[

19. Choose the correctly spelt word from
the following.
1. temperament 2. temparature
3. temporary 4. tornament
20. Pranitha has _(lose) her passport again.[

[

1. been lost 2. lose
3. loses 4. |ost
PART - 1l (B)

GENERAL TELUGU
21.88 89 B8 LBED @ D BYS6.
1. 26368@3%0 2. @Kﬁ@b‘;éo
3. &)CS(\)QCQ 4. o080
22. 758508 8555206,
1. $&REen 2. g 3. Jodedo 4. Hibsdo
23.8°%0(ores oéeamz@ EPRS TPBo B3 PSS
BBHS® &ob.
1. greidood 500
3. Boredcdh o
24. “FH0” OIB JISB BSH.
1. S0&0 TPRTERS T 2. TS B0
3. T8 BoBBEKSTDH 4. ere Korrss &8
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1. DBR(EedHd 2. o500
3. BotH&d 4. 8% )Rt
27. 5283K50°Q) B T w0 & B 528
QLS SBore TJH DHE?
1 89 2. 0Nl 3. BIoeE 4. IHoghid
28. @IGeSer IPBH éééméoﬁa {3 H0 =08

2. 2650?% 55°§$o
4. [Bon aeg90

1. HEREHE 2. 8osecho

3. dgEso 4. 8058y BS0
29. $osdy @@oé‘s &drieren IQ)?

1. 8 2. 6 3. 12 4. 4
30. 3 & DH$0?

1. D3%es IR éé&médﬁo B350
2. 6HIS SBBHS EHEAD D700
3. R0grSd FrERHEBPE0SH D00
4. 808 B30
31. Hew), BAsw, GO, &), MO, B FEBI “é”
©0E00% Ko Hredd Q0Ers?
1. gede JdJeren 2 SR DISeen
3. SBEPS DIhesen 4. ééﬁovééé D3Heaeen
32. “BJBoen” 358 _65@3&?%6060&
1. omedsng BErbards 2. 3 SHoH BHBen
3. B°0R0 B w80 ol
4. $Hrod $80II ;&
33. ‘088" @l HoB @go.
1. Sro&dso 2. ar&jego 3. EBISTe 4. Incden
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. mdrriob 2. dxghe 2ok )
9 AreSd B L D58 H0f angled hlangle’r'
d. Atemgd SHob alualal]
96, “monos” s BEo O Sof. Bod o vosBim |Sibe hares
all = =LA 2 Ladis LT
CL Bl Dol 2 EE Hok 1.5211 26212 ZEE22E5 4.245
o |armelh o 2. [|E ol
d. Hewod SHol C N R s T e u T
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R e e 35, Tan34'=k= =
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l. 1 & Eﬂ'ﬁ E].
2, donBime v..w ceopepe il 1-12 21
. : . ; 3 :
3. etipoo - E0,9,m,5,8,8,5 1-13 19 s L Hone
4, Fedciis - S.o8S. fedhd 1-14 20 47 . For a given data, mode =a and median =b,
391808 TRE* HB8sS rolodod, thenmean=____
- = e e e f o f o B e Ty prel @B = - ¥F
L. BfE - (Badrdio Soth 1 Artfioo + 55 Lfoen JmS amrvio = g
2 mo|SNeroe ;::, ‘.:.;: sty o b oo fitoo =
o 2obhdoh - 24 rllnooth & ArEgNeru a—h ath -a
oo 1. 2.——  4d.MHone
0 Belnte, _ RS e g 2 2 2
o ':'”_"“'_ __ﬂ""-"”'*‘”:'“' R0t i BolEneTa + 42.The awerage of 100 numbersis calculated as
2 Rrhfieros doli GO.WMhile calelating the awerage, two numbers
| s - L S R R Lo e—— . -
ALl - ROl ol 3 solllicmos + are taken as72 and 22 instead of 54 and 26, If
] 2 Hrglieron aolin thiz error i corrected, then the corected mean is_
Baly =TT SEeS s DR : . . ; -
B |Sol oDt DDl Wit L0 Pogge St 60, 548 mthoom 72 dobdio |
: L. 'l-f:l\l-"‘-' el - BUETSO 26 8 stovom 268 =0 Sk U'f-_'j'_-mt-:.
2. it "'."i’lu_"?5‘-::':“ ﬁ:é‘-"‘: = % AP SBE T SBENS Ao Doe?
g Foderll mamoely - DRl gema il 1,505 2 507 2.808 48085
- mRE 49.1n a class, there are 26 students. In 3 surnvey, it
FAPT -1 iA i=learnt that 8 would like to take tea butnot
MATHEMATICS coffee. fthe numberof studentswhao _Ilke teais
11 The i ; - 16, then the numberof studentzwhao like anly
S T Inverse o |:-==- q1= coffee butnot teais.
p= q Tt i 26 fool Dogtes Mo e S5MES, § foob &
B - ?Tll-l-a_-\_-- =] ‘F::,.- ‘::'!_II-\_--. |.|.'I oot -\._l E'l_llr_ o,
Trap= 1 £ p=AsP =) ooy Eomads ook & oD o BodziionT
1.18 2.8 3.249 4.0
3 p= A1 G ~q =P g
e
42, The triangle formed bythe pointsD,5), (500 and |50 f ()= —— iz defined, if itsdamian is
- . . : A Ta
~0.0%i=atan triangle.
1. equivalent 2. isosceles _ - s .
3. zealene 4. right angled = T RS TR, f () Sy 5,
(0,57, Eﬁﬂja.‘-.;-#.«.fﬂﬂj-l.?l’.-u _,_.,_..,,{_. ....... 1,431 2. z={31 3.R-{3l4.R
N 1. fARC e APOR = AB=35 FRQ=24
L. FadhceT=ir=o 2. Pl EriTo
; S I :F PH=54..|E|.|:=_
e il 1.2.6 2.8.1 3.6.4 4.6 .8
42, The slope interceptform of theline
a<+ by+c=0is a1
ax + by + ¢ =0 Tp Do oreo modtipo o 9z.A= 1 JAlSE=x=_
ax @ -
. .}""—"'—":' o p——+_ =01 1. £3 2.+l CR d Hane
b & h_ &
— — —
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53 A= T . B= 4 7 AtB=0= A=

R C 0400

54, Find the roots ofthe equation

wtrle-bHe-axa-b = 0

Wi e-bH(e-aa-b) = 0 Sl fomeren.,

1.¢a,b-a 2. a, a-b 3. a--:, b-a 4. a-¢, a-b
55. Find the walue of min orderthat

23 -metS may be exadhy divisible by G230

1.5853 25053 2605 . 7003

1 +x+x -1
a5, e =

1.0 2 172 -1/2 L. 1
a7 b3 =--—-

256

125 (k] 4

1. H E'E E.E d None

2. 1F7 timesthe Fthterm of anA . P. iz equal to 11
times=sthe 11th term, then the 12th term i=...

MﬂF':.‘,;,; = .‘:a:_.-. 115 2o=lE 11

(&, .:A::JEH 1EES D&So =....

1.0 2.1 3.1% 3. -18
53. Find the 5 wforth GF'_3 3 3

In ] exTOT ] I

R 4 16 64

4 ,]_IS ,I54 N it o] [ o R

1,35 2. 345 3.5/ . -513

G0, 1f 0% ofstudents in a school are boys and the
numberof girls iz 504, the number of boys is7

EE getgened T0% mrooto SEnido tobdio eregn
S04 Tools wo mC' oo oS iooGT

1.1620 Z. 176

31276 4. Can notbe determined

PART - lll (B}
PHYVSICAL SCIENCES
1. Farthe constructive inteference, the phase
dlﬁerence between the waves iz

- - L d-I_'\. e - -
rALTUCE TRE Pt e Tt ] 00T TR

=
'\-'\-"\.\_d'\-'

1. 1'[ 2.2 J] 2.2 ] 4711
GZ. The substance forwhich the solubility does not

changewith temperature i=...

1. z2odium nitrate 2. potassium nitrate

3. 5n:--:||um -:hln:unl:le . -:ern:-u55ul|:-hate

., o = - R
|l B L-\..-\..__\_.l\_'l\_'

(5 T
LR a

b .'-'\..-'\_- I
=l - —
| = ] T = s
[ o et & e PO T B
S B I .-\._,\__ st e
vl bl S [ Lan il o}

Thetlme period of 3 simple penduﬁm onthe
moon iz S seconds, Wthe lengthis 105 cm,
thenthe aeceleration dueto gravity onthe

(=

. T o el et Dl !
a.--\_-,\_-\..-. a BS AR D LS ISl el g
Tl el i Sk S ins = AT
n N | =T L M Tl = [ERLE =t

o S ol
] e B e

1. 16.6 mi= 2.0.168 m'=
2. 1.66 mis 4. 166 mis
B The velocity of saund iz maximumin...

1. hydrogen 2. 0xygen
2. nitrogen 4. catbondioxide
\Bof @ Sr0@No fbEore Mo drdsEn,
L. _:_;T:.:.: 2. bl
. Bt = =
55, The farmulae of aleum is... (B850 %L"*:l

1. H 50 2 HEO 2. HE50 4.HSIII
6. If a' Y (gama)- paricle is emittad from a

radio active substance, then its.

1. atomic number decreases by 2 units

2. atomicweight decreaszes by d units

2. atomic numberin creases by 1 unit

G, atomic number and atomic massnumber

does not alter

B e i — i _I-'
LTS ST el e =La
- -
I Loate
L= il el e R
o T -
I SELER T W Ny &Y Tt TS ) e L L )

I % P
2. LDDTE

o et i - T Y T I
L -'-"\-"-'\-'-'EI-'- o i) _\_.'-.-\.- .-'\_- .'-'\_- I [ . L]
=
I :-\.'-:_m--:_..... : T
- AT e, P BTPEDC w.-,.--\.--\.- DT el

G7. The rays used to take phn:-t-:-graphi in datkness
1. radio mawes 2. micro waves

3 infrared W es d. gama waves

" I--Iﬂ-'_- -l . T __ = .-

e
L= by v _l-\.-\..-\. '.-_-l'.-\..l.--\.-\. T SRR
. AT afomen R P —_—-
o AR L= L SELER ] By o T =l = !_-\_--\_-Il -\_-
o L. o= .
a. DoeDoED & D0 MR S L Ty s

G2, A person carny aweight of 50 kg on hishead
andtravelles horizontald mt. distance, then the
ok done inJoules,

i o=

ef af 50 8. Himd SoR WigET
EBmidirodtion 5 Dol Sxtio P mbRS
AT T

1.240 2.2500 3.25 4.0

59, The successive distance betmeen an antinode
and alternate antinode Etatln:-narg.rwaxreg i=.

. . & - -
. T o L - - -
-\_-!_-\_--\_-I B L e !_-\_- EE !_-\..-
- S

- T [ R T ¥ ¥ —

L

—_—

S 0D e QLRI sl
Y
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34

T0.In jectr-:-ly‘ticreductin:-n of Pl gl
i= passed.
1. toprevent reduction of magnesium
2. to prevent axidation of magnesium
Z.toincreasethe condudivity ofhigcl
4. to decreaze the -:::-n-:lu-:tn.rltg.r l:-fhﬂgcl
Pl gzl M',, = BocSlemod BRo amdind

A la T il L-"'L.-

Jthe coalgas




PART - Il (C)
BIOLOGICAL SCIENCES

71. Taxol used in this treatment.
1. Heatrt circulation 2. lungs activity
3. cancer treatment 4. kedney treatment
ersS B VBES® e,
1. %0q [{8es 2. &8308H0 HIBG
3. 855 08, 4. 8&) 088
72. |Identify the destroying of RBC
1. entama- histolitica 2. plasmodium
3. micro filaria 4. arbo virus
BEEEeren FES0 Tk LY HBoHNE.
L Qotrse srald@se 2. aRficho
3. DE* 2B 4. o8 38
73. Benthic region has the name as following
1. efotic region 2. fotic region
3. abissal region 4. abotic region
BobE Hokeo o HA8 2 Eod.
1. APBHE Soeo 2. AE HoXeo
3. ADFS oo 4. JSBE Hroeo
The protein percentage in fish meat is
3% Srotost (DES weso.
1.15-20% 2.15-25% 3.20-25% 4.10-20%
Identify incorrect series of pre-erithrocytic life
cycle is..
1. the stage intial to sporozoits
2. sporozoit —crypto shizoint
cryptomerozoit RBC
3. sporozoit cryptomerozoit
crypto shizoint RBC
4. sporozoit lever  cryptomerozoit RBC
E88e0 83 D8 B0 Koaohodd KBS Edvo
508 HO0Bod
1. ¥ \8ieontS (*E0doEE
2. ¥Berants  BPqerols
Deferomes  JBEEESe0
3. Berandd (BB eeaneS
B perots  JBETESe0
4. ¥BerontS OS5 (B erols
(8808 ereoneS
The vitamine cause for Coagulation is
1. calsiferal 2. riboflowine
3. filloquinone 4. ascarbic acid
BE05805 5oy DS

74.

75.

63

76.

1. 5)P°S 2. BE*PEDS
3. »LEFS 4. o388 efyo
77. In the following, which is said as “self suicidal
bags”
1. ribosomes 2. lysosomes

3. mitochondriya 4. golgy complex

8eo eeé%gﬁé% Saren © FBI0eTSH

1. 3&tRboen 2. 83Pkoen

3. DePeeo@asr 4. Y0850
78. Identify the mixed gland

1. pancrease 2. liver

3. adrinal 4. pitutary

Bod QS (E (Ko HBoBos.
1L 80 2 8abo 3. ABSS 4. eosed
79. |dentify the correct sentence in the following
1. Meshna is species of goat
2. Serum Gonado Trofin is a Harmone, increasing
the sperm production
3. Sperms stored at 196°c
4. Neeliravi is a buffalo species
Bod aS° ¥BS 50 HoBO&.
1. sy @30 DY 8
2. 80 FPrel@odS o8 HIE*HB o
Kﬁﬁséc%
3. HEGero 196°C 5§ deoy VR
4. DO w50 NS &
80. The earthwork with citellum is a
1. male earthworm 2. female earthworm
3. bisexual earthworm 4. unisexual earthworm
_, 88go 89 &) aeRardm
1. HEHH ST 2. & o0
3. &go%H BoNskw 4. DBEOoKKD
PART - lll (D)
SOCIAL STUDIES
81.The Island situated between India and Srilanka is
1. Pambon Island 2. Minicoy Island
3. 8%degre channel 4. coral reef
rE8SB50, @ooé@ &g Ko 82?
1. oS & 2. 0D &
3. 8°&fe 73S 4. K555 6
82.Which country extended its co-operation is
establishing Durgapur Iron & Steel industry.
1. Russia 2.Britain 3. America 4. Germany
TIPS &) STYTEo O B8 808t
S b06?

Lgary 2 QS 3 obse 4. w8
83. The most cold and dreadful winds in Antractica

region are..

1. Blizzard 2. Katabatre

3. Playas 4. West-wind drift

©otrE)ds dYErozras® DT wBBHI, BQS

SOMPenen.

1. ey 2. Beoer®dE




84.“Hacienda” large agricultural estate, are presentin

1. ltaly 2. Greece 3.Chile 4. California
“HBRITDOE” o0 O DenHNE DB EVeTIow
SlEren Do SIMow.
1. a0d 2.;%5 3. 99 4. OB P
85. At which place A.P.’s first sugar-cane industry
established?

1. Yetekppaka 2. Bhodan

3. Pandalapaka 4. Tanuku
SOFHBEESE° InLFHEB HoBTE STy I
S 806?

L Q&SNS 2. &8

3. Howre 18 4. Sea0%
86. In the following, who is not a member of Drafting
committee?

1. T.T.Krishnamachari 2. K.Santhanam

3. Mohammed Ali Jinnah 4. K.M.Munshi
orezRgo H0NE) BahgenseR) T 8ob ES® JHDH?
1. é%.é%.éaogzﬁ:vma 2. 8.%0&°d0

3. Loyl ©d Bon 4. 8.a%0. K50,

87. Mnimum age required to get elected to

Rajyasabha?
1. 25 years 2. 30 years
3. 35 years 4. can not determine

ToegS FE TD oD SordoRRS B0 Hak.
1. 25 Jonen 2. 30 Jonen
3. 35 douen 4. K)é%oéaaéééa
88. From which languge, the word “Democracy” is
obsorved?
1.Greek 2. Latin 3. English 4. Spanish
“BRPER” 08 HB0 & PR 508 (($3rosadss?
1 (8 2. B3 3. wohR 4 FRQ
89. ‘Panchsheel” was the result of agreement
between...
1. Rajiv Gandhi-Benezer
2. Indira Gandbhi - Julfikhar - Ali - Bhutto
3. Nehru - Chou - En - Lai
4. Nehru - Tito
“Sos8e” OB a0 HOS0
1. oodS mrod - BIRE
2. [0dT° o) - 296 esd %éjﬁ
3. I - I - 58
4. I - Best
90. Which fundamental right safeguards the other
fundamental rights?
1. Right to livelihood 2. Right to freedom
3. Right to constritutional remedy
4. All of the above
(RARSSIVII S 5803 58,
1. #9003 55 2. '(socgag) oK)
3. Trepgol HOIEY By 4. I
91.Great Bath was discovered at
1. Nalanda 2. Harappa 3. Mohenjodaro 4. Taxila
0SBINS TEE SIS (o
1. oot 2. F8ary 3. oseostors® 4. 5380

92. Muslim league was started in

L00DF DBYES Kol

1. 1905 2. 1906 3. 1907 4. 1908
93. The European power to gain the final control
over Indonesia.

1. Russia 2. Astria 3. Germany 4. Dutch
HOEEINATD B DoHo(Beed FHoDS oSS
Teesg0 D6?

1. 8axy 2. sRoi> 3. &6&(‘5
94.The sepoy mutiny first started at
1.Meerut 2.Kolkata 3.Alahabad 4. Nagapur
QPO BLIHTED ([PE0LRE (@Poso

1. oo 2. ez 3. wodterd 4.50hrd
95. NNP at factor cost means.

1. National Income 2. National Expenditure
3. National Wealth 4. National Capital
6858 S8 G)ars V8B PETrEY oI

1. 2805 emeahEn 2. eB%H Hgoho

3. 8D HoHS 4. PHH Srodd

96. The Renaissance movement started first in.

4. &5

1. ltaly 2. Germany 3. France 4. Russia

Kg);sézé:é &350 (PE0IRN (@Podo

1. 269 2. et 3. Py 4 Garg
97. Price paid to technology is

1. Royalty 2. Rent 3. Wage 4. Salary

FoBBE Borrd8 BYoLb.

1 o°ah) 2. o3 3. 3880 4. &80

98. Sructural inflation is mostly noticed in

1. Latin america 2. India

3. China 4. Pakisthan
Dooyed)s @Ssage)a)aao 8o (rosos® Serd.
1. P8 ©0dz° 2. 90805

3. 3P 4. FEIRS

99. Chemicals and aluminium industries are
1. intermediate goods industries
2. capital goods industries
3. basic goods industries
4. consumer goods industries
BEFADS, e HO(Een
1. G588 %P HB(ELoen
2. 608 SQPHo HO(Eoen
3. P8 SdHe H/Eoen
4. DD 50D HO(Eoen
100.0ne rupee note is issued by
1. commercial bank 2. state government
3. reserve bank 4. ministry of finance
2.8 Braron Sendo erdBcinards

1. aredeyy e300 2. oo} (D80S
3. 6&635 35°§o§o 4. @gé zﬁm@é% P
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